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MODEL TEST 4

1. If point (a,b) lies on the graph of function f,

which of the following points must lie on the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OwzRQLX4eS2w

graph of the inverse f?

A. (a,b)

B. (-a,b)

C. (a,b)

D. (b,a)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OwzRQLX4eS2w

2. Harry had grades of 70,80,85 and 80 on his
quizzers. If all quizzers have the same wight,
what grade must he get on his next quiz so
that his average will be 807

A. 85

B.90

C.95

D. 100

Answer: A

‘ ° Wiadk hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_3okcVOsaQkkH
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3.If Lis a line through (-1,3) and (4,2), for what

value of kis (3,k) on L?

B.O

C.2.2

D.25

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_3okcVOsaQkkH
https://dl.doubtnut.com/l/_iElb74ielAAN

4. f log, x=p and log;, y=q, then log; xy=

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iElb74ielAAN
https://dl.doubtnut.com/l/_GXdtpm4HTlRf

5.The sum of the root of 3z° + 42 = 4z = 0

IS

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BTCS5STTJtbw
https://dl.doubtnut.com/l/_RqbMTBagtyVe

1 1
6. If f(x)— ;,then f(a)+f( ) —

a
A.0

2
B.2a — —
a

1

C.a — —
a

at —a?+1

D.
a(a? — 1)

Answer: A

° Watch Video Solution

7.1f f(x)=log(x+1), what is f ~1(3) ?


https://dl.doubtnut.com/l/_RqbMTBagtyVe
https://dl.doubtnut.com/l/_xrDyF2NA9MyM

A. 0.6

B.4

C. 999

D. 1001

Answer: C

° Watch Video Solution

8.If f(x) > 0 for all x, then f(2-x) is


https://dl.doubtnut.com/l/_xrDyF2NA9MyM
https://dl.doubtnut.com/l/_B8PHF5lVYsIo

Answer: B

o Watch Video Solution

9. How many four-digit numbers can be
formed from the numbers 0,2,4,8 if no digit is

repeated?


https://dl.doubtnut.com/l/_B8PHF5lVYsIo
https://dl.doubtnut.com/l/_halB7Wrg2vQ9

A.18

B. 24

C. 27

D. 36

Answer: A

° Watch Video Solution

10.If x-1is a factor of 22 + axz — 4, then a has

the value


https://dl.doubtnut.com/l/_halB7Wrg2vQ9
https://dl.doubtnut.com/l/_B8Te8T9FB8Oa

A 4

B.3

C.2

D. 1

Answer: B

o Watch Video Solution

11. If 10 coins are to be flipped and the first 5
all come up heads, what is the probability that

exactly 3 more heads will be flipped?


https://dl.doubtnut.com/l/_B8Te8T9FB8Oa
https://dl.doubtnut.com/l/_PXV5PwbimaK5

A. 0.0439

B.0.1172

C.0.125

D. 0.3125

Answer: D

o Watch Video Solution

12. If i = 4/1 and n is a positive integer, which

of the following statements is FALSE?


https://dl.doubtnut.com/l/_PXV5PwbimaK5
https://dl.doubtnut.com/l/_7UudN5i2eIDJ

Answer: B

° Watch Video Solution

13.If log, 3=71, then log, /3=

A. 2.66


https://dl.doubtnut.com/l/_7UudN5i2eIDJ
https://dl.doubtnut.com/l/_OhAKU6ID9cJi

Answer: B

o Watch Video Solution

14.1f f(x) = 422 and g(x) =f(sin x)+f(cos x), then

g(23°) is

Al



https://dl.doubtnut.com/l/_OhAKU6ID9cJi
https://dl.doubtnut.com/l/_PaTNl3Ft2jxH

B.4

C.4.29

D. 537

Answer: B

o Watch Video Solution

15. What is the sum of the roots of the

equation (z — v/2) (z° — 3z + ) =07

A.-0.315


https://dl.doubtnut.com/l/_PaTNl3Ft2jxH
https://dl.doubtnut.com/l/_fyP6YmOP6Z5A

B.-0.318

C.1414

D.3.15

Answer: D

o Watch Video Solution

16. Which of the following equations has
(have)  graphes  consisting of  two
perpendicular lines?

l. xy=0


https://dl.doubtnut.com/l/_fyP6YmOP6Z5A
https://dl.doubtnut.com/l/_9Yhcs32tuWva

I yl=I

1. |xy|=1

A.only |

B.only I

C.only Il

D.onlyland I

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9Yhcs32tuWva

17.1f f(x) = (4 — z)” and g(x) = ,/z, then (g o

f) (x)=
y
N
"4
0(0,0) Y30 ke
A |4 — x|
B. |2 — z|

C. \/zc(4 - w)z


https://dl.doubtnut.com/l/_PMgGu7wNvShK

D. (VE—1)°

Answer: A

o Watch Video Solution

18. In the figure above, if VO=VY, what is the

slope of segment VO?

A —./3


https://dl.doubtnut.com/l/_PMgGu7wNvShK
https://dl.doubtnut.com/l/_tB6RI8De2nkr

D.cannot be determined from the given

information

Answer: D

o Watch Video Solution

19. A cylindrica bar of metal has a base radius
of 2 and a height of 9. It is melted down and

reformed into a cube. A side of the cube is

A. 232


https://dl.doubtnut.com/l/_tB6RI8De2nkr
https://dl.doubtnut.com/l/_KGWVCaU86Poc

B.3.84

C.4.84

D. 97.21

Answer: C

o Watch Video Solution

20. The graph of y=(x+2)(2x-3) can be
expressed as a set of parametric equations. If

x=2t-2 and y=f(t) , then f(t)=


https://dl.doubtnut.com/l/_KGWVCaU86Poc
https://dl.doubtnut.com/l/_deUDpzMUHTFe

A. 2t(4t-5)

B. (2t-2)(4t-7)

C. 2t(4t-7)

D. (2t-2)(4t-5)

Answer: C

o Watch Video Solution

2z + 1
T is

21.The inverse of y =

—2x — 1
r— 3

Ay =


https://dl.doubtnut.com/l/_deUDpzMUHTFe
https://dl.doubtnut.com/l/_7WhzMWO4726h

T2z +1

3z +1

4= x — 2

3r — 1

Y= x + 2
Answer: D

o Watch Video Solution

22. Rent-a-Rek has 27 cars available for rental.
Twenty of these are compact, and 7 are
midsize. If two cars are selected at random,

what is the probability that both are compact?


https://dl.doubtnut.com/l/_7WhzMWO4726h
https://dl.doubtnut.com/l/_KfCfYVL3DNs1

A.0.576

B. 0.0598

C. 0481

D. 0.541

Answer: D

o Watch Video Solution

23.If a and b are real numbers, with ¢ > b and

la| < |b|, then


https://dl.doubtnut.com/l/_KfCfYVL3DNs1
https://dl.doubtnut.com/l/_NUek6jHfYQ6j

Aa >0

B.a <0

C.b>0

D.b <0

Answer: D

° Watch Video Solution

24. If [x] is defined to represent the greatest

integer less than or equal to x , and f(x)


https://dl.doubtnut.com/l/_NUek6jHfYQ6j
https://dl.doubtnut.com/l/_JtiLJlGT5wGq

r — [z] — —|, the maximum value of f(x)

2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_JtiLJlGT5wGq

5133

25. As x gets closer to 2, approaches

2 —4

A.O

B.1

C.2

D.3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CTpD7Y3m6vZk

26. A right circular cone whose base radius is 4
is inscribed in a sphere of radius 5. what is the
ratio of the volume of the cone to the volume
of the sphere?

A.0.222:1

B. 0.256:1

C. 0.288:1

D. 0.333:1

Answer: B

‘ ° Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_WsBt9nvIVLyr
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27.1fxg = land z, 1 = 3\/%”’ thenx 3 =

A. 1.26
B. 1.361
C.1.396

D. 1408

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_WsBt9nvIVLyr
https://dl.doubtnut.com/l/_qNOW0pOGN4Se
https://dl.doubtnut.com/l/_Pvam87TeyVVh

. T\ .
28. The y- intercept of y=|\/§csc(a: + E) is

A.0.22

B. 0.67

C. 141

D.24

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Pvam87TeyVVh

29. If the center of the circle
z? + y2 + ax + by + 2 = 0 point (4,-8), then

a+b=

C.4

D.8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_rKrii0qu1niI

30. If p(z) = 32% 4+ 9z + 7 and p(a)=2 , then
a:

A.only 0.736

B. only-2.264

C.0.736 or 2.264

D.-0.736 or -2.264

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RfsIdKpkNdDt
https://dl.doubtnut.com/l/_8kLGpzd3nZVi

3. If 2 is a root of the equation

z + 22% — 322 + kx — 4 = 0, then k=

A.-12

B.-10

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8kLGpzd3nZVi

32. If SinA

3 1
— g,9()0 <A< +180°,cos B = 3 and

270° < B <360° , sin(4A+ B) =

A.-0.832
B.-0.554
C.-0.333

D. 0.954

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_59j6HX3aqNeB

33. A family has three children.Assuming that

the probability of having a boy is 0.5, what is

the probability that at least one child is a boy?

A.0.875

B. 0.67

C.05

D. 0.375

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jOS2mhzb0NXF

34. If sec 1.4=x, find the value of csc(2 tan ! zc)

A.033
B. 0.87
C.1

D. 3.03

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pGUWeGuIk0VI
https://dl.doubtnut.com/l/_cyo2GPrKvQlX

35. The graph of|y-1|=|x+1| forms an X. The two

branches of the X intersect at a point whose

coordinates are

A. (1,1)

B. (-1,1)

C. (1,-1)

D. (-1,-1)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cyo2GPrKvQlX
https://dl.doubtnut.com/l/_39DRXZsrXrYl

36. For what value of x between 0° and 360°

does cos 2x=2cos x?

A.68.5° or 291.5°

B.only 68.5°

C.103.9° or 256.1°

D.111.5° or 270°

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_39DRXZsrXrYl

37. An data set has a mean of 12 and a
standard deviation of 2. If 5 is added to twice

each data value, the new data set has

A. a mean of 24 and a standard deviation of

10

B. a mean of 24 and a standard deviation of

15

C.a mean of 29 and a standard deviation of

15


https://dl.doubtnut.com/l/_KA0XtS4ghpw6

D. a mean of 29 and a standard deviation of

Answer: D

o Watch Video Solution

38. For each positive integer n, let 5,,=sum of
all positive integers less than or equal on n.

Then S5; equals

A. 50


https://dl.doubtnut.com/l/_KA0XtS4ghpw6
https://dl.doubtnut.com/l/_dJ9o9TZyjED0

B. 51

C. 1250

D. 1326

Answer: D

o Watch Video Solution

39. If the graph of
3z + 4y’ —6z+8y —5=0 and

(z — 2)° = 4(y + 2) are drawn on the same


https://dl.doubtnut.com/l/_dJ9o9TZyjED0
https://dl.doubtnut.com/l/_sxkrCZ7HGGi4

coordinate system, at how many points do

they intersect?

A.O

B.1

C.2

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sxkrCZ7HGGi4

40. If log, 2 = log, x is satisfied by two values

of x, what is their sum?

A.O

B.1.73

C.235

D. 2.81

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZjSfgkPv8V6w
https://dl.doubtnut.com/l/_evffhkaaGtgL

41. which of the following lines are asymptotes

3m2—13m—10?
x2 —4r — 5

for the graph of y =

l. x=-1

Il. x=5

ll. Y=3

A.lonly

B. Il only

C.land ll

D.land Il

Answer: D

| e |


https://dl.doubtnut.com/l/_evffhkaaGtgL

| & View Text Solution

' 1
a2.f25m20 1o 40° < 0180° . then

1 — cos 20 2



https://dl.doubtnut.com/l/_evffhkaaGtgL
https://dl.doubtnut.com/l/_h1lQbKAnsUht

B.0° or 180°

C.80.5°

D.0° or 80.5°

Answer: C

o Watch Video Solution

43. The cube in the figure above has edges of
length 6 If point p is the midpoint of an edge,

what is the perimeter of A QPR?


https://dl.doubtnut.com/l/_h1lQbKAnsUht
https://dl.doubtnut.com/l/_co4Eyt3P6Sx6

A.13.41

B.14.28

C.171

D. 23.81

Answer: D

o Watch Video Solution

44, Two positive numbers, a and b, are in the
sequence 4. a,b,12. The first three numbers

form a geometric sequence, and the last three


https://dl.doubtnut.com/l/_co4Eyt3P6Sx6
https://dl.doubtnut.com/l/_631xid5W8qRH

numbers form an arithmetic sequence. The
difference b-a equals
A1l
B. —
2
C.2

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_631xid5W8qRH

45, A sector of a circle has an arc length of 2.4

feet and an area of 14.3 square feet. How many

degrees are in the central angle?

A.63.4°

B.20.2°

C.14.3°

D.11.5°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DhMkyk51EFUk

46. The y-coordinate of one focus of the ellipse

362> + 25y + 144 — 50y — 731 = 0is

B M C
N
A D
A. -2

B.1


https://dl.doubtnut.com/l/_o9JvByBBh5NB

C.3.32

D.4.32

Answer: D

o Watch Video Solution

47.in the figure above, ABCD is a square. M is
the point one-third of the way from B to C. N is
the point one-half of the way from D to C.

Then 0=


https://dl.doubtnut.com/l/_o9JvByBBh5NB
https://dl.doubtnut.com/l/_f1kXwzIIos8J

A.50.8°

B.45.0°

C.36.9°

D. 36.1°

Answer: B

° Watch Video Solution

48. If f is a linear function such that
f(7)=5,f(12)=-6, and f(x)=23.7, what is the value of

x?


https://dl.doubtnut.com/l/_f1kXwzIIos8J
https://dl.doubtnut.com/l/_j5diXdBXGPXs

A.-3.2

B.-1.5

C.1

D.24

Answer: B

o Watch Video Solution

49, Under which of the following conditions is
z(rx —y

Y

negative?


https://dl.doubtnut.com/l/_j5diXdBXGPXs
https://dl.doubtnut.com/l/_N5qL7A3IEAp4

A. xltyltO

B. yltxItO

C. Oltxlto

D. xItOlty

Answer: A

° Watch Video Solution

50. The binary operation * is defined over the

set of real number to be a*b


https://dl.doubtnut.com/l/_N5qL7A3IEAp4
https://dl.doubtnut.com/l/_D1VpuFeiz7ii

if a >0b
if a<bd

Find the value of

e oo

a sin.
| beos.
%3

A. 1.84
B.2.82

C.2.79

D. 3.65

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_D1VpuFeiz7ii

